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A TEST OF BASIC UNDERSTANDINGS IN ARITHMETIC
Directions for the administration of the test

This test contains 63 items of the multiple-choice variety,
Four answers are given for each question, and only one of these is
correct. The child is to choose the one answer which he thinks is
correct and then to draw a circle around its letter (a, ,c, or d).

Answers to the examples in the boxes to the right of ques-
tions are not necessary. Most schools will probably not have intro-
duced decimal fractions as yet in grade five**. However, a few
children may be able to answer some of the questions and for this
reason, they are being included.

Directions to be read to the children

This Is a test to see how well you understand the number
system and the processes*** used in arithmetic. Read each question
carefully. Then choose the one answer which you think is correct
and draw a circle around the letter (a, b, ¢, or d) which is in front
of the answer which you have chosen.

A TEST OF BASIC UNDERSTANDING IN ARITHMETIC*

BIRTHDATE.....oocovvvvvvpesevvvnernsigeassseguensannnnas SCHOOL......oovvvvvvvvvvvvmmmmmsssssssssssssssssssnnns
[Day Month ™ Year)

Directions. Read each question carefully. Choose the one answer
which you think is correct and draw a circle around its
letter (a, b, ¢, or d).
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1. What is the smallest number that can be written by using the
figures 4, 3, , 2,57
a) 12435 b) 12543 C) 12345 d) 12453

2. What is the largest number that can be written by using the
figures 7, 2, 5, 3, 67

a) 76523 b) 76352 C) 76532 d) 76325
3. In the number 209456, Which figure is in the ten-thousands’ place?
Q) 2 b) 0 0) 9 Q) 4

4, Hw does the 2 on the right compare with the 2 on the left in
the number 212 ?

a) 10 times as great b) 100 times as great
¢c) 1/10 as great d) 1/100 as great

5. Which number below is equal to 1 hundred, 9 tens, and 11 ones**?
a) 1911 b) 201 C) 191 d) 1101

6. If a Eero*** were placed between the 3 and the 7 in the number
37, what effect would this have ?

a) It would make both the 3 and the 7 ten times as great.

b)  Neither the 3 nor the 7 would be changed.

¢) The 7 would remain unchanged but the 3 would become 10
times as great.

d) The 7 would remain unchanged but the 3 would become 100
as great.

What are the parts of is46 ?
a) 15 hundreds, 4 tens,and 6 ones  b) 1s hundreds and 46 tens
¢) s hundreds,40 tens,and 6 ones  d) 1s tens and 46 ones

**Throughout the test for the English pupils, "units" rather
than "ones" was used.

***"Nought" rather than "zero" was used on the test for the
English pupils.
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8. In the addition at the right, what is the "carried" number ?
a) 2 ones ) 20 0ones ¢) 2tens d) 1 ten

16

29

9. What would happen to the sum of the 4 numbers at the right if

you put the 70  the hottom and the 35 on top ?
The sum would be less than 200.

b) You would need to add to find out if there is a
difference between the 2 sums.

¢) The sum would be greater if the 2 numbers were
interchanged.

d)  There would be no change in the sum.

0. If one part of 20 is 5s what is the other part ?
a) 25 ) 15 c) 1/4 d 4

. Which statement is correct for the subtraction at the right
a)  The remainder will be more than 20000.
b)  The remainder plus 1zeoe Will equal sosea. 30864"
¢) The remainder minus 17e0e Will equal sossa. ~17609)
d) 30864 minus the remainder will be more than 20000.

12. In the multiplication at the right, what is the next step?
a) 2 ones are carried b) 2 tens are added to 3 tens,
) 2tens are added to s tens d) None of these.

34

X_b
-4
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13. In which one nmust a hundred be carried ?
) 3143, b) 5214, c) 1401 d) 1233,
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4, What is a quick way of combining several groups of equal size?
a)  Addition ) Substraction  ¢) Multiplication
d)  Division
15 What must you do to find the cost of several objects each of

which is priced differently ?
a) Add b) Subtract  ¢) Multiply d) Divide

le. If the 250 In the multiplication at the right were doubled,
what would the answer be ?
a) 8000 ) 2000 C) 6000 d) 9000
16%250 = 4000

17. |f the 16 in the multiplication at the right were halved, what
would the answer be 9
a) 8000 b) 2000 ¢) 6000 d) 9000

16 X250 = 4000

1. If the 15 were doubled and the eo halved, what effect would this
have on the answer to 15 Xeo ?
a)  Theanswer would be doubled. ) The answer would behalved,
¢)  Theanswer would be unchanged.d)  The answer would be4
times as great.

o. Hw will the answer to 40 X 25 compare with the answer t0 sXe2s?
a)  You cannot tell without multiplying first.

) Theanswer will be 8 times as large.

¢c) The answer will be 35 times larger.

d)  The answer will be 1/8 as large.

78

a)

oo IS how many times as great as 7s ?
10 b) 100 ¢) 1000 d) 1/100as great

20.
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Hw do you obtain the correct Bnswer to 35 X 64 @**

a)  Multiply 5 X 64. Multiply 3 X 64. Then add the 2 answers.
b)  Multiply 5 X 64. Multiply 30 X 64. Then add the 2 answers.
¢) Multiply 4 X35, Multiply 6 X35, Then add the 2 answers.
d)  Multiply 3 X64. Multiply so X64. Then add the 2 answers.

What is a quick way of finding the total number of 3 that

can be subtracted from iseo ? S

a)  Addition Subtraction ¢) Multiplication
d)  Division

If the 1312 were halved in the division at the right, what

would the answer be ?
a) 64 b) 16 c) 3.2% d) 16

41 312

If the 41 were doubled in the division at the right, what
would the answer be ?
a) o4 b) 16 C) 82 A 3.2

=M 3;il

At the request of headmasters, terms such as products,
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In the division at the right, how can the answer be doubled?
a) Double the 2 b) Multiply se0 by 10

¢) Double the se0  d) Divide seo by 2 12 T 360
What is the answer to the division at the right ?
) 7 b) 7001 C) 1o d 7o

6~ rh20™ |
What is the value of the 5 in the division at the right ?
a) 5 ones b) 5 tens
¢) 5 hundreds d) 5 thousands | >

16 )8000 |

Which one is equal to 2 days se hours ?
a) 5 days 6 hours  b) 3 days :e hours
c) 3 daysi2 hours — d) 5 days

Which one equals the same amount of time as 6 minutes 20 seconds?

a) 5 minutes so seconds b) 5 minutes so seconds
) 5 minutes so seconds d) 5 minutes 21 seconds
Which is the correct answer for the multiplication at the right?
a) 2L hr. 72 min. 8 sec. b) 28 hr. 2 min. 8 sec.
C) 28 hr. 10 min.2s sec. d 22 hr.10 min.2s sec.
hr. min.  sec. !
3 10 b
V4

Which measure represents the area of a room ?
a) k2 yards b)) 86" cubic yards ¢) 12 square yards
d) 1512 inches
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32.  Which rectangle has the greatest perimeter ?

a) )
| 2 yd.

8 vd. 12 yd.
' ) g
6 yd. 5 yd.

5 yd 7 yd.
Bayé% geﬁtaﬁ% & : ﬁ(bg{bs[h children,the decimal point in all numerals

33, Hw does the area of Square | compare with the area of Square I1?
a) Twice as great . | k yd.

) 3 times as great 3 g

c) A times as great  °Y

d) 1/2 as great | Square |1

Square |

3m Which fraction is the smallest

a) 1/16 i c) 118 d 112
35, Which fraction is the largest

a) 1/16 b) 7116 C) 9/16 d) 11/16
36. What fraction of the figure at the right is shaded ?

a) 1/12 b) 116 c) 13 d) 1/6
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37 Does each section of the square at the right represent 1/8 of
the total square ?
a) No, because the lines go in different directions.
) No, because the parts are different in shape. |\ | |
¢) Yesbecause there are 8 sections altogether. A
d) Yesbecause there are 8 sections of equal size. —
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How does the fraction 3/b compare in size with 3/8?
a) 12 ashig ) I/basbig c) Twice as large
d) b times as large

What fraction of an hour is 50 minutes ?
a) 1/50 ) 501 c) 5/6 d) 3/8

Hw does the number of X in Group | compare with those in
Group 1 ?

a) bl3 ) 3b C) b7 d) 7/3
Group | XXXX
Group 11 XX

How long is Line | when compared with Line Il ?

) 3A b) 2[5 ¢) 305 d) 2/3
Line | 1
Line HL L [

In which set are the fractions equal in value ?
a) ..6,8/6 ) 112,1A )  5A6, 1016
d) 24/56,2/3

Which fraction comes next in this series! 1/8, 1/b,3/8,1/25 ?
a) 2/8 ) 58 c) D8 d 7/8

A fraction of each ofthe rectangles is shaded. If the fractions
are to be added, which of the following numbers is used as a

a denominator ?

a) 8 ) 12 c) 6 d 1 |
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After spending part of his money, John had 1/5 of it left.
What part of his money was spent ?
a) You cannot tell. ) 112 of it
c) 9/5 of it d) 2710 of it
Which one of theseadditions  could be done by multiplication ?
a) 1/9 +1/3 b; 13+ 113 +1/5
c) 7/8 +1/9 d) 39+ 3/h +3/b
Which of the diagramsshows 3/b of 8 ?
a) b) c)
a)
Mg
Which diagram shows 3 1/3 ?
c) ’ a) t::
| |
|
Which diagram shows 1/3 3 ?
SEIEE S " ‘ o) | | d):j ! §
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Which of the numbers is equal to 1/10 ?

a) .1 ) 010 ¢c) .001 d 1.0
Which of these numbers is the largest ?

a) 3.5 ) 3.165 C) 3.28 d) 3.0065
Which of these numbers is the smallest ?

a) 6.0 ) o0.06 c) 0.6 d) o0.006

Hw should three hundred thirty-three and two hundredths be
written ?
a) 333.200 ) 30033.02 ¢) 333002 d) 333.02

How does the 5 on the left compare with the 5 on the right in
the number sos ?

a) 10 times greater ) 110 as great
¢c) 100 times greater d) 1/100 as great
In the addition at the right, what number is carried ?
a) Aone ) One tenth 17|
c) Aten d)Ten ones +1.8

Hw would the removal of the decimal point in 7. affect the
number ?
a) It would add 10 to the number.
It would make the number 1/10 as great.
¢) It would make the number 10 times as great.
d) It would not change the size of the number.

Which answer is most nearly correct for 6.1 x 2.0 ?
a) 12 b) 18 C) 1.8 d) 120

Which answer is most clearly correct for 2k.2 ~2.99 ¢
a) 12 ) .12 c) 8 d .8
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Hw will the answer be affected if the decimal points are
moved one place to the left in both se.2 and in 798 ?

a) It will be 10 times larger. |
b) It will be 110 as great. | 86.2
c) It will be 100 times larger. x79.8
d It will be 1/100 as great. |

What will be the effect on the answer if the decimal point is
moved one place to the left in ss.2 and one place to the right
N 169 ?

a) The answer will be the same.

b)  The answer will he 100 times larger. 3872"

c) The answer will be 1/100 as great. X1 .69

d) The answer will be 1/10 as great.

Which statement is correct for the multiplication at the right?
a) The answer will belarger than s2s*

b)  The answer will besmaller than szs. 325

c) The answer will be 7k times larger than s2s» K. 7K

d) Nong of these.

What would happen to the answer in the division at the right
If both s and 21 were multiplied by 10 ?
a) The answer would be 10 times larger. )
The answer would be 100 times larger. A -3 =
The answer would be 1/100 as great.
The answer would be unchanged.

b)
C)
d)
Which decimal beloF/ is equal to 2 tenths and 17 hundredths ?
a)
C)

217 b) 2.7

37 D) o
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8000
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250 x 16 4000
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64 X 35
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L 64 X5 6 x 50
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